Выполнила: Латкина О.В.

Подготовка к итоговой аттестации за курс средней школы (11класс)

Уровень В
1. а) Дано: [image: image2.png]ctga

-— <a
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 . Найдите [image: image4.png]cos a,tga, sina.




б) Дано: [image: image6.png]


 Найдите [image: image8.png]cos a,tga, sina.




2. а) Дано: [image: image10.png]B 1
sinacos @ = v 2r < a < 3m.



 Найдите [image: image12.png]sina + cos a.




б) Дано: [image: image14.png]- 1
sina@cos a = ¢



 , [image: image16.png]—-3n< a < —2m.



 Найдите [image: image18.png]sina + cos a.




3. а) Дано: [image: image20.png]- 3
sinacosa = — —
11



 , [image: image22.png]


. Найдите [image: image24.png]sina — cos a.




       б) Дано: [image: image26.png]- 1
sinacos @ = — —
15



 , [image: image28.png]


 . Найдите [image: image30.png]cos a — sina.




4. Найдите значение выражения:

а) [image: image32.png]sin?35° — cos*35°
sin 35° — cos 350



 -   [image: image34.png]sin?35° + cos?35° |
tg 35° + ctg 35°





б) [image: image36.png]sin24° — cos324°
sin 24° — cos 240



 -   [image: image38.png]sin®24° + cos®24°
tg 24° + ctg 24°




